Electrical calculations
7 = 1.00000e + 01
rp = 5.00000e + 00

1.00000e+00 1.00000e+00
TT€eS = T1.00000e+00 f.—E00006+00 = 71.00000e+00 613.—"60000e+00 = 2.50000e + 00
( y + - ) (500000¢+00 T 5:00000¢ 100 )

w=1i-rres — 1.00000e 4 01 - 2.50000¢ + 00 = 2.50000¢ + 01

Power from current and resistance
power = 2:00000e+00 _ppos — 1.00000e + 012000006100 . 9 50000 + 00 = 2.50000e + 02

Power from voltage and resistance

2.00000e4-00 2.00000e+00
_u _2.50000e+01 _
power2 = prrm = 2.500006700 = 2.50000e + 02




